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OPTION—C
Paper : ECO-RE-5036

( Environmental Economics )

. 1. Answer the following questions (any ten) :

1x10=10
O eI Tae i (R cpreent webt)
(a) What is ecology?
“ffRerey &2
(b) What is market failure?
GRS RFerer {2
() Mention one character of public good.
AT TIR 901 (AR T 41 |
(d) What is meant by environment?
yScuRICREE LY
(e) Define sustainable development.
I CREeq vige fed |
() State one feature of common property
resource.
SGA Toowd o1 (I8 BrEy 91 |
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(h)

()

0

(k)

()

(o)
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What is free rider problem?
& SRR P % 2

Define marginal social cost.

o SIS T 75 |

What is meant by command and control
method?
I S e 1wl Wew & & 2

What is liability law?
LR ECRE

What is meant by green GDP?
CTe® GDP e & q&m 2

Give the concept of global warming.

CNTR SRS YIReTCHT e |

What is biodiversity?

(&(3foay & 2

Name one greenhouse gas.

ARy orSeaR (ova 71 forar |

What is ozone layer depletion?

T T ST S 9
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(p) State one global environmental problem.

oM ARG 51 ST S 4T |
(@9 What is optimal level of pollution?
I 73 W9 R 2
() Write one objective of environmental
economics.
“ffSca SRS o1 Swesy o7 |
2. Answer the following questions in short
(any five) : 2x5=10
©eq 2pTyRs 5y e fian (R cre +feby)
(a) Give two examples of negative
externalities.
YEF PO o1 Tz fean |
(b) Mention two causes of climate change.
TERTY #RTETH 101 TR Teay 91 |

(c)
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Define the point of Pareto optimality in

case of public goods.

EE G{H CFAO /B’ I RYOR e

foa | -
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(d) What is Pigouvian tax?
g 33 RE R 2

(e) State any two components of
sustainable development.

Ty SR R I 701 Tome Sy 41 |

() Distinguish between strong and weak
sustainability.

e o o1 eTETeN we A Ay
0

(g Give two reasons of decline in
biodiversity.

Ceatafba SRAfe o1 I far |

(h) State two problems created by solid
wastes.

CAIBY SRR T8 F1 Y1 i By 41 |

(i) Give two reasons of ozone layer
depletion.

T TIE LI 01 FR

() Why is biodiversity important?
couafoay R wFe 2
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3. Answer the following questions (any foun :

5x4=20

o 2z s (R e wife)

(@)

(b)

(c)

(d)

(e)
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Explain the biotic elements of
environment.

ARCR (&RF TPz I 41 |

Point out the positive and negative
effects of development on environment.
T R [T CIERT NS A
4ITF AR SglerrR il |

Explain the characteristics of common
property rights.
e TR SRPRA (AFEPTR I 4 |

Discuss the process of internalising
externalities = through government
intervention.

s¢waaiﬁa$waEHTmﬁwrﬁavﬁvhﬁmq3m§m
HCAST 341 |

Write a note on market-based methods
of pollution control.

ol e A o -fofes eI eeRe
BT (BT 71T |
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() What is transboundary environmental
problem? Explain its various causes.

1+4=5
TEeiTe oRwer wem R[R7 WA Rty
FREPTFR M 347 |

() Explain the various effects of climate
change.

TR AfReST RiSw oerez a4 7411

(h) Briefly explain the major
environmental protection activities
undertaken in India.

AR PR IR O o2 Fq GFGS
IR PSSR AT T |

4. Answer the following questions (any four :
10x4=40
o 2T Beq fudt (R e wifedy)

(a) Discuss diagrammatically Pareto
optimality of public goods.

A TR (P[5’ TS B TS S[Ces
01

(b) Explain the environmental impact of
industrial activities with example. 8+2=10

Srma-Rewe Teom FRRAR ARy ARy
o SAZApTR I 39
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() What is pollution permit system?
Discuss different Steps involved in

pollution permit system. 2+8=10
T WS W R oy SR e
TS WivS RfSH oewepiE S = |

(d) Discuss cost-benefit analysis  of
environmental policies and regulations.

et M = e | ST RS
Re S1cems =1 |

(e) What is environment impact
assessment? Discuss the process of
environment impact assessment. 2+8=10

R ok T 2 Rt s e
TRSC! SICEABT 34 |

() Write a note on indicators of sustainable
development.

TR BRI SR SRS 1 O Bt |

(g) Discuss sustainable development from
Indian perspective.

SRS (PFIBS 2T SN ST 3997 |
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(h) What are non-market goods and
services? Explain the various processes
of valuation of non-market goods and
services. 2+8=10

SRE[E AR WE CRPAR 7 SReR AN

¥ CRPR e 1 R[few =iz arm
0

() “The equilibrium between demand for
and supply of public goods fails to
satisfy allocative efficiency.” Discuss the
statement.

‘I AR TR AF @R SR

o TRel W@ e Y 1 SR
[T 47 |

() Discuss the nature and subject matter
of environmental economics,

TR S ol e Rwem s
ol
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